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Sean A = (a;;) € M3(R) y B = (b;;) € M3.3(R) dadas por

i L=
“”‘{1 Y

y

B = (bij) = (i +7)

Calcule: — A% + (3BA)

(60 puntos)
Solucion:
ay;r a1 Qi3 11 1 13 1 1 1
Tenemos que : A= layn axp az|=1]1 22 1|=|1 4 1 y
az;  asg as3 1 1 3 1 1 27
b1y b2 by 1+41 142 143 2 3 4
B=|by by by|=1]24+41 242 243 =13 4 5
b3y b3 b33 3+1 3+2 3+3 4 5 6
2 3 4 1 1 1 24+3+4 24+12+4 2+3+108
Luego, BA= |3 4 5 1 4 1| =134+4+5 34+16+5 3+4+135
4 5 6 1 1 27 44546 44+20+6 445+ 162
9 18 113
= [12 24 142
15 30 171



27 54 339
De donde se obtiene que: 3BA= |36 72 426

45 90 513
11 171 1 1 1+1+1 1444+1 141427
A2=A-A=1{1 4 1|1 4 1 |=|1+4+1 1+16+1 1+4+27
1 1 27| |1 1 27 14+1427 144427 1+14729
3 6 29
=6 18 32
29 32 731
-3 -6 —29
Asi, —A*’=| -6 —18 —32
—29 —32 —731
-3 -6 —29 27 54 339
Finalmente, — A2+ (3BA) = | —6 —18 —32 |+ |36 72 426
-29 —-32 —731 45 90 513
24 48 310
=130 54 394 | []
16 58 —218



